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5/31 FHE PL_AR#EFIZE 106 45,000 634,500
oo
#1/31 FHE PL_AR#EFIZE 108 58,500 1,039,500
22/28 FE PL_A R#EF &% 109 63,000 sl 1,102,500
23/31 FHE PL_AR#EFIZE 111 67,500 kv 1,170,000

+EREDBS FEREL Y. ARFEBSOZERICEBALTTIL, BEREEZIHITIL,

EXMLE P 187 - 188

BS ARFEBS
FERHV AT L F11HA FEXS
BSFHTIRE ) BENEREC Bfif FH

HE FE FE B FE FE FE

4R 5H B 218 ¥2AR 238
RERE 694,450| B 1,258,750
citE 49,500] H& 74,250
BEAR 743,950| B% 1,333,000
RILVHERSF 9,450| g 63,000
BfEAEH 9,450| & 63,000
X% 100,000] ®& 100,000
U BRRE 634,500| &g 1,170,000
MEEAE 734,500| B 1,270,000
BERVHEESE 743,950| B% 1,333,000
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P127~P224

P32 EHEMEI(EEE)
EEcE $£| 3 | E P 189
PL FE TR
FERHY AT L $F1188 FEX2
# B PL%ES £9;] BA
Hifif TH
=k§} TS HFERE =91 £ 9;] 2 1=
4/1 FE BIHA RS
4/30 FHE BS_5i#t& 158 49,500 IRE:) 49,500
5/31 FHE BS_c#ie 160 45,000 L3 94,500
21/31 FHE BS_#ie 162 58,500 499,500
22/28 FHE BS_5i#t& 163 63,000 BT 562,500
#3/31 FHE BS_c#ie 1) 67,500 IR 630,000
EEWEE 190
KPI (3E&Eh) FE TR
FEESHY AT LA #1188 FEX2
# B KPI_BR55# 2 &5 EA
Hifif &
=k} TES HERB &5 g5 2 1=
4/1 FHE AHAGE
4/30 F&E KPI_ERFEEDIEMEH_ T L By 55 168 55
5/31 TE KPI_ERFGE#EnIEMER S B 50 170 105
1/31 =& KPI_ERFS#EnIEIER_ 5L B! 65 555
322/28 RiA KPI_ERFEEDIEMER_T L Ry 70 625
#23/31 RiA KPI_BRFE#=nigEinEl_5 £ P! 75 700
EEWEE 191
KPI (3E&Eh) FE TR
FERHY AT L $FE1188 FEXY
& B KPI_BUEaICO2HE & =971 EH
==X (v2 t
=k§} TS HFERE 9] £ 9;] 2 1=
4/1 FE BUHA IS
4/30 PE R e T R d 176 11.0 177 11.0
5/31 P G e R rd 178 10.0 179 21.0
21/31 P G T T L Y 180 13.0 111.0
32/28 PE G Ty R Y 181 14.0 182 125.0
23/31 FHE KPI_BIRETCO25F i B o iEmmiEe : bk 15.0 184 140.0
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ZENGE F3T P127~P224
$E3E EEMEI(EE)
EEWLE P 192
KPl (3E&&H) FE iR
FEAHVRAT LA $£118 FEXS
# B KPI_CO2HliBE &h El
2R v t
B TS HFHRAB &h =9;] 1)
4/1 FHE AUEA#EE
4/30 FEH KPI_CO2&IiEE niEhniEH : A5t EREL 2.2 186 2.2
5/31 & KPI_CO2HIF 2 nignEeh : AigkxElEY 2.0 188 4.2
21/31 FE KPI_CO2HIiH 2 niEinEH : K HEHEL) 2.6 22.2
12/28 FE KPI_CO28IiHE miginiEe : A iERE) 2.8 25.0
23/31 & KPI_CO2HFE D2 : KEEAHE 3.0 28.0
EEunE P 193
KPl (3E&EH) F &R
FEEHVAT LA 1148 FEEXS
#q B KPI_HlUiE#% CO2HFHE &5 EJ
=R v t
BT TS HBFERE &5 BA i1
4/1 FHE BUHAGE
4/30 & KPI_§i@#CO24F i B iR : fE L) 8.8 195 8.8
5/31 FE KPI_HIiR#CO28k E mighnie « 4Ll 8.0 197 16.8
21/31 FE KPI_HIiR#CO28kH E nighniRe : e kel 10.4 88.8
22/28 FE KPI_§i@#CO24F i B iR : fE L] 11.2 100.0
23/31 FE KPI_HIR#CO28E i EnigniEh : F4 i)l 12.0 112.0
EEWLE P 194
KPl (3E&&H) F &k
FEASHV AT LA $£115 FEXS
B B KPI_AE# &h ED
B A
Bt TS HBFERE &h 1= 9;] i)
4/1 F& Gop:GEE S 203 11
4/30 FHE KPI_AS#DENER _#A AL 2 205 13
5/31 FE 206 13
21/31 FE 14
B2/28 F¥E 14
23/31 FHE KPI AE#oiENER #H Y 1 208 15
23/31 F& KPI_A B DB ER R 209 yd 210 13
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P127~P224

F3IE

EE M3 ()

LROPL_FETERUVKPL_FETIRL Y. ARFEPL (KPIZL) OZERMICRALTT SV, BERFEEZIHIATIVL,

EXMLE P 195
PL KPI (3E&E) ARFEPL GERF#EST)
FEEFVZAT L S11HA FEXS
PL¥ERIRRUKPI_FETIR L Y BENEREE
HE FE ¥R A% FE FE FE FE
4R 5A B 1A B2A8 ¥3A WHEA R
setm (FM) 49,500 45,000] g 58,500 63,000 67,500 630,000
REHE (fB) 50| B& 65 70 75 700
FHMRGEEM (FM)
900 900 900 900 900
XA E .
LEgsEFIE (FA) 49,500 45,000] B% 58,500 kv 63,000 67,500 630,000
HURBIC O 2 HEHHE (t) 10.0 | &% 13.0 WAL 14.0 15.0 140.0
CO2HIHE (1) 2.0 B 2.6 g2y 2.8 3.0 28.0
HIE# C O 2 HEE (V) 8.0| B 10.4 wily 11.2 12.0 112.0
ABH (N) 13| B& el 256 14 13 13
—A&YEEE (TM) 3,462| B& 4,179 iy 4,500 5,192 48,462
—AELEREEL, HEOKBOAEHTHET S,
EENRE P 196
= FETIR
FEEFVRTL 115 FEXS
# B S BRUEE &% DA
Bfif FH
Bt TXS BFEME (V] = 97] &=
4/1 FHE B HA R 585,550
4/30 FE &E SELIRA 49,500 635,050
5/31 FHE && ST EIA 54,450 689,500
5/31 FE &E SELIA 54,450 743,950
5/31 FHE B HEFZH 272 49,500 AL 694,450
oo B
#1/31 FHE && ST EIA 49,500 1,125,100
22/28 FE &E SELIRA 64,350 1,189,450
23/31 FHE && T EIA 69,300 1,258,750
EENRLE £ 3 | E P 197
ax FETR
FERHVATL 1157 FEXS
M H & S EINA = 97] DB
B M
=Lb} TXS BFERE (V] BA &=
4/1 FE AT HA TR
4/30 FHE AEE RUEE 278 49,500 mwAL) 49,500
5/31 FE S BREEE 280 54,450 pwaj 103,950
5/31 FHE ABE RUEE 282 54,450 gA:E; 158,400
oo
#1/31 FHE AEE RUEE 284 49,500 589,050
22/28 FE S BREEE 285 64,350 a3 653,400
23/31 FHE ABE RUEE 287 69,300 jwi:t:] 722,700
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EEWICE $3E P127~P224

$38 EEME3(MEE)

ERNRE F| 3 | E P 198
= FETIR
FEREH AT L 1181 FEXS
M B BEE RiEEFxH &A e DC
Bify FH
Bt TXS BFEME (V] = 97] &=
4/1 FE ATHR TR 0
5/31 FE BEE RUER 289 49,500 49,500

EHMLE P 199
&% AREEFESE

FERIFRTL 1187 FEES

& FHETIRE Y BENER B FH
HE FE FE % FE i FE FE

4R 58 B ®1H ®2H 3R BHIR
55 _EUA 49,500 XY 108,900| & 49,500 XTN 64,350 Ll 69,300 LIy 722,700
BEFXH 49,500] B 49,500
BERIX 49,500 N[ 59,400] #& 4950030 64,350 KM 69,300[)NM 673,200
AESES 585,550l 635,050 #& [ | 1,075,600 3RA 1,125 100fKFEY 1,189,450[FEN 585,550
AXESES 635,050l 694,450| #g Y 1,125,100 JK3EN 1,189,450[kM 1,258,750 RN 1,258,750
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3% P127~P224

$3E EEMEAREE)

B FHES

mEREER | - hL E oo | se “| ¢ |-
BlE - EBRETER RFHECF
T oREER FEUR | zmme | | cramam | - |FEme| | PFFTR
A% LB E

FE3MDNBS_FERTIRNDAREREFRE «ER L L TCFRIBEBMREZHZEL. CF_FERTIR~NBEECL.

EBLICARFECFAEHERTZ2 70 RADERHICEALTT IV, RERISELZTHEITIV,

: [0M@) & [0FME] &ELTETT 3,
EEISE g [3] = p 202 CFRIE CF_#:3| 57 4 FiliAI28
CF{% FHEMLR 48 DBS_BEARH S EREE % CF M| NIMAS~EAE X 5CFEE FEAREHLET 3,
CFRIEREAEE B +H
A1t &ARE BHSE EvioE EHSE
4/30 iBSJﬁa‘éﬂ*‘Ji&%‘Jﬁ%ﬁ (=) 49,500 CF #5331 4 ERfFIZS 49,500
f&HAEE 49,500 565 49,500
EENCE g2 [2] = P 202
CFi% FHEMR 58 DBS_RA S SIEHEE % CF_ M N MMAIS~EAE X 5CFEE% FEAREHLET 3,
CFRIBIRESERE B i +H
A &5RE fEH S EA5RE BHEE
5/31 +BS_gMAIRFRE CERER) 45,000“ CF_#3 | 1 4 ER#I25 45,000
T 45,000 L 45,000
.+ 6 A~12F OCFiEE FEMARITEMR . - -
EENISE g2 [2] = p 203
CFif% FEMLR 2 1 B OBS_BHIRHESIEHEE2CF P53 S PHAIS~EA B 2CFEE BATREFLET 3,
CFRIEIEHEE B TH
=0 E5RE EhEE S5RE BHSE
21/31 + BS_giflFSe CERER) 58,500 CF_#3| 1 4 ER$F25 58,500
P 58,500 S5a5 58,500
EENISE % = 203
CFi% FHEMLR %2 A OBS_ @ISR ASIEHEE%CF_Pia S MRS~ EA B 2CFEE FEAREHLT 3,
CFRIBIREHERE B +H
A EERE ey 5K E SHSE
22/28 iBSJﬁ;‘éi@*‘J%&i‘Jé’—:ﬁ (=) 63,000 CF_ #1337 M ERSiFIZS 63,000
&hE5 63,000 B854 63,000
EEISE g2 [2] = p 204
CFif% FEMLR % 3 § OBS_BHAIRHRSEFHEE2CF_ P3| S PHAIS~EA B 2CFEE FEAREHLT 3,
CFRIEIREHERE B TH
A1t E5RE EEEE S5RE BHSE
=3/31 +BS_BHARRAS (EHEH) 67,500 CF_#:3 | 514 EAtiAI28 67,500
P 67,500 S5a5 67,500

CFi¥_FHEIIROCFH B %#CF_FETIRNIEL T .
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EENNE

P127~P224

FI3FE HIYERELERE)
EEISE P 205
CF FETIE
FEELHV AT L HFE11HA FEXS
B B CF_#i5 | 51 X4 ERFI2S &5 CA
CFREREHERE Bifi B
A1t TS HBERE &5 &5 B
4/1 B FIERIGR A
4/30 FE +BS_FHMERRE (EREH) 31 49,500 YA 49,500
5/31 = +BS JBHFREIRE (ERER) 33 45,000 Y 94.500
21/31 = +BS JHFREIRE (ERER) 35 58,500 499,500
2/28 FE +BS_FHHMERRE (EREH) 36 63,000 562,500
23/31 = +BS JHFREIRE (ERER) 38 67,500 630,000
zmnnE 5 [3]| = P 205 - 206 CFRIE CF_= L{EE DA
CFii% FEMHR AR DBS EHISEREREECF = L EEQERE~EAEZ 5CFEE FEARESLT 3.
CFREREHERE B iy B
Bt &5 R L E S E5RE EHEE
4/30 Il £BS =iie (ER=D) 4.950
4 BN A 4,950
EHEst 0 ErE 0
zEnmE g [3] = P 207
CFii% FEMLR 5 B OBS HHEEFBEEECF = L EEDERA~EAE X 5CFEY FEMLRENLT 3,
CFRIBREHERE B {7 +H
Bt EARE EESE EARE ShHeE
5/31 +BS mhle (ER=H) A 59,400
CF_= L EiEniEHE 59,400
BhHaE m ShA5 0
« + 6 A~12BOCF#E _FEMERITARE - - -
zmnnE 5 [3]| = P 208
CFii%_FELHR W1 H0BS SHISHEHEE4CF S LBEEOERE~EAS R 5CFHET FEMAREITLT 2.,
CFRIBREHERE B iy FH
Bt &5 R L E S E5RE EHEE
21/31 +BS mhie (ERE=H) 14.850
CF = L EEDEHE A 14,850
EHast 0 545 0
zEnmE 5 [3] = P 208
CFi% FEMR W2 ANBS SHSEHERECF & L BEDERE~EAE X 2CFAE FEMLREZITLT 3,
CFRIBIREHEE B iy +H
Bt EARE BhHEE EARE ShH&E
2/28 +BS mile (EREH B 4.950
CF = EiEnEmE WK A 4.950
e as | 60 | BH At 61 0
zmnmE 5 [3]| = P 209
CFii%_FELHR W3 F0BS SHISHEHEE4CF S LBEEDERE~EAE R 5CFHET FEMAREITLT 2.,
CFRIBIREHERE B iy FH
Bt &5 R L E S E5RE EhH&HE
13/31 (YW +BS Tile (EREE) 65 4,950
68 BN L 69 A 4,950
EHast m 0 ErE 67 0

CFii%E_FHMROCFREZCF_FRETIR~NEILT 5.
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EEWICE $3E P127~P224

$3E EEMEAREE)

EEWGE P 210
CF FE TR
FEAHSRT L =118 FERSH
¥ B CF_% F{&EHE DR v CB
CFRIBIRESERE By +H
A1t TE5 HERE &% ) S
4/1 B3 FIERiE
4/30 FE +BS FitE (EREH) 70 /A 4,950 i! A\ 4,950
5/31 FE +BS FEitE (EREHR) 72 59,400 & 54,450
21/31 FE +BS St (EREHR) 74 A\ 14,850 39,600
2/28 e +BS_=#le (ZHEH) 75 /. 4,950 34,650
3/31 FE +BS FEiftE (EREHR) 17 A 4,950 29,700
EENISE s [3] = P 210 - 211 CFRIE CF_kiLEEHZ DIEHE
CFii% FHEMLR 4 OBS FiEBERSHEBEELCF FILEERZOBRE~EA» S 2 2CFAE FEAREZHLET 2,
CFRIBIRESEE B3 TH
A E5RE ELEHE EvioE BHSE
4/30 +BS_kILNEBEME (CEHER) 4,950 CF_kihEBERZniEHE Y 4,950
P 4.950 S5a5 84 4.950
EENCH g [3] = P 212
CF{% FHEMLR 5 BDBS kil EEREIEHEE % CF_RILEERSOEBRE~ELEZ 5CFEE FEAREH LT 3,
CFRIBIBAERE B i +H
A EERE Y E5RE S5&HE
5/31 “ +BS RiILNEERZE (GEEZ=E) S A 45,000 K780 CF *iLEEHRZ DR B A 45,000
VA=Y 89 A\ 45,000 BA5E5 90 A\ 45,000
« + 6 A~12BOCF#E FEMEFRIIEARE - - -
EENISE g [3] = P 212
CFif% FEMLR B1H OBS_kihE B EEHEEECF_RILVEBEREOEBE~EAE X 2CFEY% FEAREHLET 3,
CFRIBIREAEE B +H
A E5RIE E LS S5RE S5EHE
21/31 +BS_KRILNEBRZE (BRESR) 5,850 EN CF kil EERZ 0w 5,850
T 5,850 g5a5 96 5.850
EENISE g [3] = P 213
CF{% FHEMLR WA DOBS_ kil EENEEHEEECF R EERZEOERE~EAE X 2CFEE FEAREZHLET 3,
CFRIBIREHERE B +H
B {4 BARE BHSE S5RE EHSE
22/28 +BS kINEERZ (EREE KR 6,300“ CF kil EBERZ DIEHE 6.300
BhE 101 6,300 B854 6,300
EEISE g [3] = P 213
CFif% RiALER B3H OBS_kihE BN EEHEEECF_RIEBERZEOERE~EAE X 2CFEY% FEAREHLET 3,
CFRIBIREHERE B +H
A E5RIE EH e S5RE S5EHE
23/31 NERE © BS K EEME (ZHEH) X 105 EETR L e et 106 6.750

fEAaE 6,750 BA A 108 6,750
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3% P127~P224

5 EERE4EE)

EEWNEE P 214
CF FE TR
FEESHY AT LA $F1158A FEEX S
¥ B CF_kRiINHEBHREDIEHE 1£9;] cC
CFRIBIIEAEE B B

B+t TES HERB &h 1£9;] 2 3=

4/1 FHE AIHAGE

4/30 FE +BS_KILHEREF (EREH) 109 4,950 I EI] 4,950

5/31 TE +BS_KRILHEMSE (EREHR) 111 A 45,000 KV A 40,050
21/31 FE +BS_KRILHEBEMRE (EEZEH) 113 5,850 450
22/28 FE +*BS_KIVHEHRE (ERER) 114 6,300 6,750
#3/31 FE +BS_KRILHEMSE (EREE) 116 6,750 13,500

LEROCF_ FERIRE Y, ARFECFOZEMICEBALTTEI L, BEEIEEZIHEIATIV,

EF: T0M] & T0FH] &LTRERT S,
EELE P 214 - 215
CF BR¥ECF
FERHFTVATL 1147 FEEX S
CFRExiRE V) HENERED ==X (v2 TH
HE &8 A& FHE FE & &
5AH B& BT1A B2AH ¥3AH BHARE

TR G E A 49,500 ki) 45,000] B& 58,500 63,000 by 67,500 630,000
o L{EEDIEREE A 4,950 kL 59,400| B& A 14,850 A 4,950 vl A 4,950 29,700
FKILHEREDIG R 4950mENN A 45,000] EE 5,850 6,300 ! 6,750 13,500
HEEEICLBCF 49,500 INEY/ 59,400| & 49,500 64,350 K] 69,300 673,200
BEEENICLBCF 0| & 0 0
IS EHICLBCF o] m& 0 0
BERUVRERZEYD
4 142 49,500 WLy 59,400] B 49,500 mEyk 64,350 LY} 69,300 673,200
HERUVBREREYD

s ,n 143 585,550 LT3 635,050 fg ELR 1,075,600 EyA 1,125 100 KLY 1,189,450 585,550
HEXES - X1
BE&RUVBRERZEYD
;*%?EXI;J " 144 635,050 m¥iyg 694,450] B BENE 1,125,100 ERE 1,189,450 k3 1,258,750

=0

X1 BERVBEEDOBS_FHERIRDANZEEZANT S,
X2 RERVEEOBS_FERIRDARZEEZANT S,
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